Subject: Affirmative Action, OJT Pilot Program, Pre-Award DBE/SBE Contract Number: 51-274 FAP No.: 0151 (108) Contract Amount: \$3,990,051.00 Funding Source: 80% FHWA/20% State Bid Opening Date: 3/9/22 **OTT** Requirement: No **Requirement: 6%** DBE ⊠ SBE □ GFE □ Prime is a DBE: Yes □ No ⊠ % and Dollar Amount Requirement: 6%/\$239,403.06 Contractor: Paramount Construction, LLC Date: 3/11/22 To: Debra A. Goss, Manager From: Carrie A. Cyr Ext. 2134 Office of Contract Compliance **Contracts Section** Please indicate if this contractor has an approved Affirmative Action Plan on file? Yes If yes, indicate the expiration date: 4/30/2023 Is this Firm enrolled in the OJT Pilot Program? _____Yes No In accordance with the provisions, the contractor has submitted the following within 5 days to meet the pre-award requirements for this contract. This Contractor has met the 5 day Federal Guideline for DBE Submittals. Subcontractor Race/Gender Amount Amount Nominated (\$) Credited (\$) HI-M 239,404.00 239,404.00 The Quaker Corporation 239,404.00 239,404.00 Total Please review and indicate if you find this submittal acceptable by signing below. If you find any nominated subcontractor is not to receive credit for any line item but the prime still meets the minimum requirement, please indicate your exception below. 3-10-202 Date Office of Contract Compliance Comments:_

If any of the items above are checked Yes as to Partini please use the space provided or use an attachment to offer an explanation of the work involved. Also please identify who is responsible 0910186 R-B 350 BRIDGE ATTACHMENT TRAILING END N 0910300 METAL BEAM RAIL (R-B MASH) N 0910041 METAL BEAM RAIL (TYPE R-B SYSTEM 5) 0910031 THRIE BEAM ATTACHMENT ** Please be advised that by submitting this form you (the prime) agree that the total Credited amount will be the amount of commitment and will be measured by the Commercially Useful Function the Subcontractor performs 063801 STRUCTURAL STEEL 1207041A SF - EXTRUDED ALUM (TYPE XI RS) Dollar amount requested for CREDIT for this DBE Firm (5): Dollar amount subcontracted to this DBE firm (\$): Submitted By (Prime): Town(s) of: CDOT Project Number (s): Only certified DBE firms and only for work which they have been certified for will be approved by CDOT toward the goal. Department's DBE directory is available on CTDOT's website or by calling 860-594-2171

Sheet 1 TRE-AWARD DBE COMMITMENT APPROVAL REQUEST: 1203109 SIDE MOUNTED SIGN FOUNDATION Item Number & Description PARAMOUNT CONSTRUCTION LLC \$3,990,051,00 FARMINGTON 0051-0274 Z Z Partial Yes No Z Z Z Hen. 15 This S S S S (2) 241,532.00 239,404.00 CP 3-11-22 S S 239,404.00 Eirm Type 뉴 EA 두 EA 유 CWT Hem F TO BE SUBMITTED WITHIN THE TIME FRAME INDICATED IN THE BID DOCUMENTS 3,310 Quantity bid by Prime 187 Is this DBE firm a 1st or 2nd tier subcontractor? NAICS Code (s) associated with this submission: DBE Subcontractor: 37.94 55.20 57.50 2,242.50 5,635.00 6,698.75 787.75 the prime makes the assertion that regardless of its arrangement with the 1st tier subcontractor; this DBE firm will be used and its replacement is subject to the conditions of the DBE specification and contract requirements. The CDOT profess 1st tier subcontractors, however, credit for 2nd tier DBE firms will be approved provided this page is signed by both the prime and the DBE firm, the 1st tier subcontractor is identified, the extent of the 2nd tier work is clearly identified, and Contract. Unit Price 3,310 ယ THE QUAKER CORPORATION 187 P.O. BOX 368, CHESHIRE, CT 06410 Subcontracted 85.00 33.00 4,800.00 50.00 5,825.00 685.00 1,250.00 Subcontract Unit Price 1st 237310, 238910 Total Item price subcontracted 109,230.00 11,650.00 19,200.00 3,750.00 9,350.00 2,740.00 6,885.00 N \$19,200.00 \$11,650.00 \$109,230.00 \$3,750.00 \$6,885.00 \$9,350.00 \$2,740.00 Total item prices, credited to the subcontractor

*** Firm Type Code: S (subcontractor), M (manufacturer), P (supplier), T (trucking), V (services), For items leased or rented please use code L under Firm Type Code Instead of P. Any DBE Trucking firm (T) nominated on this form must self-perform not less than 30% of their contract value

amount toward the goal.

*****. The credited amount includes adjustments for supply items including leased or rented at 60%

3.9.22

Signature of Pringe Contractor, Title

After this submittal is approved by the Department, any proposed changes to broust be submitted to the Department for approval.

м озымун такан жана такан т Торийн такан т	AL JAI NIAMEN ULLEMINES 3 PA	TO BE SUBMITTED WITHIN THE TIME FRAME INDICATED IN THE BID DOCUMENTS					
Only certified DBE firms and only for work which they have been certified for will be approved by CDOT toward the goal. Department's DBE directory is available on CTDOT's	007 toward the goal. Dep	artment's DBE directory is	available on CTDOT's web	website or by calling 860-594-2171	4-2171 Sr 9		
CDOT Project Number (s): 0051-0274	D	DBE Subcontractor:	THE QUAKER CORPORATION	DRATION			
Town(s) of: FARMINGTON	2	NAICS Code (s) associated with this submission:	th this submission:		237310, 238910		
Submitted By (Prime): PARAMOUNT CONSTRUCTION LLC	A	Address:	P.O. BOX 358, CHESHIRE, CT 06410		The state of the s		
Orlginal Bid (\$): \$3,980,051.00	15	ls this DBE firm a 1st or 2nd tier subcontractor?	2nd tier subcontractor	·? 1st	2nd*	7	
Dollar amount subcontracted to this DBE firm (\$): 211,392.86 239, 404.00	<i>C</i> ₱ 3-11-22				[Ē	
Dollar amount requested for CREDIT for this DBE Firm (\$): 239,404.00 ** ** Please he advised that he submitting the form you (file and a submitting the form)		by both the prime an	st tier subcontractors; ho d the DBE firm, the 1st tie	wever, credit for 2nd tie r subcontractor is identi	. The CDOT prefers 1st tier subcontractors; however, credit for 2nd tier DBE firms will be upproved provided this page is signed by both the prime and the DBE firm, the 1st tier subcontractor is identified, the extent of the 2nd tier work is clearly identified, and	ovided this page is signed ork is clearly identified, and	
of Commitment and will be measured by the Commercially Useful Function the Subcontractor performs	nt will be the amount	the prime makes the replacement is subjective.	the prime makes the assertion that regardless replacement is subject to the conditions of the	ess of its arrangement with the 1st tier subcontract the DBE specification and contract requirements.	less of its arrangement with the 1st devisibe optractor, this DBE firm will be used and its the DBE specification and contract requirements.	BE firm will be used and its	
zht.	Quantity bid	Contract	Quantity	Subcontract			
Item Number & Description Item Eirm Type. of Partial Code. Item Yes No	by Prime.	Unit Price	Subcontracted	Unit Price	Totalitem price, subcontracted	Intalliem prices, credited to the	
0911912 ANCHOR IN EARTH CUT SLOPE N S EA	-	3,680.00	_	2,200.00	2,200.00	\$2,200.00	
0911923 R-B END ANCHORAGE TYPE I N S EA	4	1,949.25	4	1,695.00	6,780.00	\$6,780.00	
0912499 REMOVE CABLE GUIDE RAIL N S LF	2,427	3.45	2,427	3.00	7,281.00	\$7,281.00	
0912503 REMOVE METAL BEAM RAIL Y S LF	3,604	4.60	3,122	4.00	12,488.00	\$12,488.00	
0918001 THREE-CABLE GUIDE RAILING (I-BEAM POST) N S LF	1,300	23.00	1,300	19.50	25,350.00	\$25,350.00	
0918011 END ANCHORAGE TYPE I N S EA	2	5,175.00	2	4,450.00	8,900.00	\$8,900.00	
1803324 IMPACT ATTENUATION SYSTEM (MEDIAN/GORE) N S	N	8,625.00	N	6,800.00	13,600.00	\$13,600.00	
If any of the items above are checked Yes as to Partial, please use the space provided or use an attachment to offer an explanation of the work involved. Also please identify who is responsible for the remainder of the partial items.	or use an attachment t	o offer an explanation	of the work involved. 2	Also please identify w	ho is responsible		
*** Firm Type Code: S (subcontractor), M (manufacturer), P (supplier), T (trucking), V (services). For items leased or rented please use code L under Firm Type Code instead of P., Any DBE Trucking firm (T) inominated on this form must self perform not less than 30% of their contract value.	dng), V (services), Fo than 30% of their contra	r items leased or reni rtyalue:	ed please use code L	under Eirn Type G	ode instead of P.		
**** In instances where the Prime is paying the Subcontractor a higher unit price than the bid, by submitting this form the Prime agrees to the higher **** Is this DBE Purchasing any Material or Leasing any Equipment from the Prime or any of the Prime's YES Affiliates? NO	the bid, by submitting ny of the Prime's	this form the Prime ag YES NO 🔀	rees to the higher sub	es to the higher subcontracted price without additional confyES, state the amount and DO NOT include the amount in the	osts to t	he Department Amount: \$	
***** The credited amount includes adjustments for supply items including leased or rented at 60%	d or rented at 60%.						
			M	LE A	all sr	3/9/22	1
Signature of Subcontractor, Title	he Department, any	proposed changes to	Ske Stringers of the submitted	Signature of Subcontractor, Title	r, Title	Date /	

PLEASE NOTE THE REMINDER OF ITEM 0912503 REMOVE METAL BEAM RAIL WILL BE DONE BY QUAKER JUST NOT INCLUDED IN DBE PRE-COMMITMENT

THE QUAKER CORPORATION

P.O. Box 368, Cheshire, CT 06410

Phone: (860) 621-1720 Fax: (860) 621-2607

State of Connecticut Certified MBE / DBE / SBE

www.quakercorporation.com

QUOTATION - Revised			Date:				3/9/2022
PROJECT NO.		51-274					
PROJECT DESCRIPTION		Intersection Improvements Colt Highway					
INOULCE DESCRIPTION		Rt 6 & SR 531 at I-84 East entrance ramp					
TOWN		Farmingt		ust c	and unce run	·P	
				T	T.C.		
COMPANY		Paramount Construction, LLC					
CONTACT		Estimating Department					
ITEM #	ITEM DESCRIPTION	UNIT	QUANTITY	UN	NIT PRICE		TOTAL
	Signs						
603801	STRUCTURAL STEEL	cwt.	4	\$	685.00	\$	2,740.00
1203109	SIDE MOUNTED SIGN FOUNDATION	ea.	2	\$	5,825.00	\$	11,650.00
1207041A	SF - EXTRUD ALUM (TYPE XI RS)	s.f.	187	\$	50.00	\$	9,350.00
					TOTAL	\$	23,740.00
Guuardrail							
910031	THRIE BEAM ATTACHMENT	ea.	4	\$	4,800.00	\$	19,200.00
910041	MBR (TYPE R-B SYSTEM 5)	l.f.	81	\$	85.00	\$	6,885.00
910186	R-B 350 BRIDGE ATTACH - TRAILING	ea.	3	\$	1,250.00	\$	3,750.00
910300	METAL BEAM RAIL (R-B MASH)	l.f.	3310	\$	33.00	\$	109,230.00
911912	ANCHOR IN EARTH CUT SLOPE	ea.	1	\$	2,200.00	\$	2,200.00
911923	R-B END ANCHORAGE-TYPE I	ea.	4	\$	1,695.00	\$	6,780.00
912499	REMOVE CABLE GUIDE RAIL	l.f.	2427	\$	3.00	\$	7,281.00
912503	REMOVE METAL BEAM RAIL	l.f.	3604	\$	4.00	\$	14,416.00
917010A	REPAIR GUIDERAIL	est.	4000	\$	1.00	\$	4,000.00
918001	THREE-CABLE GR (I BEAM POSTS)	l.f.	1300	\$	19.50	\$	25,350.00
918011	END ANCHORAGE-TYPE I	ea.	2	\$	4,450.00	\$	8,900.00
1803324	IMP ATTEN SYST (MEDIAN/GORE)	ea.	2	\$	6,800.00	\$	13,600.00
					TOTAL	\$	221,592.00

EXCLUSIONS:

Maintenance and protection of traffic, construction staking, rock, boulder or any concrete removal, hand digging for utilities, lighting for night work, repairs to guardrail or signs damaged by others, concrete testing, pull out testing, and bonding.

PRICES ARE FIRM FOR 30 DAYS

Quotation submitted by:

Enrique J. Millares President

Sheet 1 of 1



State of Connecticut Disclaimer and Privacy Policy Copyright © 2002 - 2007 State of Connecticut

Hit Counter 123,693